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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 34 questions. All questions are compulsory.

(it)  This question paper is divided into five Sections — A, B, C, D and E.

(iti) In Section A - Questions no. 1 to 21 are Multiple Choice (MCQ) type
questions, carrying 1 mark each.

(iv) In Section B - Questions no. 22 to 27 are Short Answer (SA) type questions,
carrying 3 marks each. Answers to these questions should not exceed 60 to 80
words.

(v)  In Section C - Questions no. 28 to 30 are Long Answer (LA) type questions

carrying 8 marks each. Answers to these questions should not exceed 300 to
350 words.

(vi) In Section D — Questions no. 31 to 33 are Source-based questions with three
sub-questions of 4 marks each.

(vii) In Section E — Question no. 34 is Map-based question carrying 5§ marks that
includes the identification and location of significant test items. Attach the
map with the answer book.

(viii) There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

(ix) In addition to this, separate instructions are given with each section and
question, wherever necessary.

SECTION A
(Multiple Choice Type Questions) 21x1=21

1. In which state of modern India is Dholavira, an ancient site of Harappan

culture located ?

(a) Haryana (b) Himachal Pradesh

(c) Rajasthan (d)  Gujarat
2. Identify the character of Mahabharata with the help of following

information :

o She belonged to Rakshasa clan.
) She was married to Bheema.

. She was the mother of Ghatotkatcha.

(a)  Bhilni (b)  Subhadra
(c) Draupadi (d) Hidimba
61/1/2 3 P.T.O.
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3. fmfafea 4 & fre sk 9 ‘geei i’ @i qQAmMa foha 2
(a) Toft g (b)  ITRIEA
(¢ Tuft oo ga=id (d)  %gerd
4. Tmfafed @ - T 6 g fomivar 737 8 2
(a) B (b) Bad
(c) TR (d dRUgR
5. TAfafead O 9 G w@R? 377% 319837 3IRelcrall ~ J&deh o i@ i @ ?
(a)  STLEL. S (b)  E1.IAR. GrEt
(c) THW. 1Y (d) &l e
6.  Yiudl vATed] o ‘TaTE T ¥R o fohm Usg | feq g 2
(a) ToER (b)  Ufvem ST
(¢) 3gEm d IR I
7. TafaRga 4 9 forg smEes 3 39 ao R iRt o T gewi st uget
TR Sfircifad fopam o 2
(a) I5IH (b)  HHIH
(c) TN (d) TogER
8. Tr=fafga Serrl i ggmdar 4 fosIR & 931 i gg=e hIfT -

e T RIMTFHISEH TN I |
o TR BINET 8L 1 FHI HEwT |

o g ISR AHTST 1 G99 g 991 AT |

(a) 9™ (b) Hgd
(¢ dad d) g
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3. Who among the following rulers rebuilt the ‘Sudarshan Lake’ ?

(a)  Siri Satakarni (b)  Sakasena
(c) Siri Vijaya Satakarni (d) Rudradaman
4, Which one of the following is not a structural feature of Stupa ?
(a) Harmika (b) Chhatri
(c) Garbhagriha (d) Gateways

5. Who among the following archaeologists is the author of ‘The Story of
Indian Archaeology’ ?

(a) R.D. Banerjee (b) D.R. Sahni
(¢)  S.N.Roy (d) B.B.Lal

6. In which state of India is the fifth century temple, Devgarh situated ?

(a)  Bihar (b)  West Bengal
(c) Orissa (d)  Uttar Pradesh
7. Who among the following was the first ruler to inscribe messages to his

subjects and officials ?
(a) Chandragupta (b)  Samudragupta
(c) Ashoka (d) Bindusara

8. Identify the dynasty of Vijayanagara with the help of the following

information :

e Harihara and Bukka belonged to this dynasty.
e They built Hiriya canal.

e It was the first dynasty of Vijayangara empire.

(a) Sangama (b)  Saluva
(c) Tuluva (d)  Aravidu

61/1/2 5 P.T.O.
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9. fmffaa = Fa IgER Hueg Hife IR = feu v foshedt & & @&

farepeq o1 = I

i) e Mg g (i) 7% I

(i) T BHIHA <& (iv) T% T g
foeped -

@ (), Gv), i), (i) b) (i), (id), (v), @)
(¢) (i), @), (i), (iv) @  Gv), (i), (i), @)

10. = < ®eF fou MU g, SAfvRed (A) R ®ww (R) | fr=feifga i eamgEes
qfeu 3R He foehed o1 ==  hifoie

37T (A) : HieTg o aih s 6 wafte of |
FRU(R): 98 vdifecal & YO <1 Gid &I 3 |

(a) 3P (A) 3 SR (R) THT Tal & 3 SR (R), AR (A) hHI
g ST LAl 2 |

(b)  SANTHAT (A) 3T HRU (R) THI T&l 8, T BRU (R), AMMHe (A) i
e AT 7T S § |

(c) MY (A) Tl &, Tg SR (R) Tad 7 |

d) REE (A) A 8, T SRV (R) T 2 |

11. Tr=fafad & @ H-a1 Ser gafea g 2

(a) 3T Sl — et
(b) el SR — IR
() T SEET  — HIERA
(d) A= —
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9. Arrange the following in chorological order and select the correct option
from the given options.

i  Guru Gobind Singh (i) Guru Arjan Dev
(iii) Guru Har Kishan Dev (iv) Guru Nanak Dev
Option :

@ (@), Gv), (iii), (i) (b) (i), (iii), (iv), (i)
(¢ (ib), (), Gi), (v) @  Gv), G, Gid), @)

10. Two statements as Assertion (A) and Reason (R) are given below. Read
them carefully and answer the questions that follow :

Assertion (A) : Mirabai was the woman poet of Nirguna Bhakti tradition.

Reason (R): She has been recognized as a source of inspiration for

centuries.

(a) Both Assertion (A) and Reason (R) are correct and Reason (R) is
the correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are correct, but Reason (R) is
not the correct explanation of the Assertion (A).

(c) Assertion (A) is correct, but Reason (R) is incorrect.

(d)  Assertion (A) is incorrect, but Reason (R) is correct.

11. Which of the following pairs is correctly matched ?

(a)  Ibn Battuta — Portuguese
(b) Francois Bernier - Frenchman
(¢) Duarte Barbosa — Moroccan
(d)  Manucci — Spanish
61/1/2 V4 P.T.O.
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12. = ®eF fGu MU g, SAfmRed (A) TR W (R) | fr=feifgd i eamgds

qfeu 3R He foehed o1 == hifoie

STYHYT (A) : HIEdl FHI = T STEITE bl L TS hal T |

PR (R) : NSEIR ‘-L%—clll(l\-icd g9hl <h{UT AT |

(a) MR (A) 3T HRO (R) ST T&! & 3 HRU (R), 3Mhe (A) i
g8l SIS il B |

(b)  HWHAA (A) 3 HNU (R) qHI F&l &, Td BN (R), 3R (A) hl
e AT TET Ll g |

(c) M (A) 3R FRO (R) 1 Ted & |
(d  AfFIE (A) T 7, g FRU (R) T 7 |
13. 351 9qal o ded § feffgd # § SH-91 ®oF T8t 787 & ?
(a) YRd H 3TH oITcAT 98 Ush Hilaeh! okl I T |
(b) 3ok ATAT AT i fohdT® ol ‘FIGITE7THT Hhed & |
(c) % ST AT SEAH € o [ I RIS o7 |
(d)  3& ekl 1 e i ot |
14, 3Tha o IMEAHIA H STHH hl IR WA H afieha fepam Siran o | Ffeifiad =
1 H H HH-A1 G ITTST THT ST o7 2

(a) s (b) 9O«
() = d) R
15. f=fafga SHer) i ggradar @ 10 s%e sfean sradl & 3T%Er il g9

e  dg Als douctt & fafhedss o
o 3T A I Toqa HaleTur foha
o 3G HhAshdl H Tufgarer i Temgan i

(a)  ohiteTd Hehrat] (b) S HTIA

(c)  HTeh! gral (d)  WIfH A
16. T=AfcIiad & @ wH-41 fashey @€ gafed 8 2

(a) #WEH - SEIE R

(b) MW - PR U

¢ Tt - arfoe o1cht wms

@ ey - AH R
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12. Two statements as Assertion (A) and Reason (R) are given below. Read

them carefully and answer the questions that follow :

Assertion (A) : Francois Bernier has called the Mughal king as the king
of barbarians.

Reason (R): Crown ownership of land was its reason.

(a) Both Assertion (A) and Reason (R) are correct and Reason (R) is
the correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are correct, but Reason (R) is
not the correct explanation of the Assertion (A).

(¢) Both Assertion (A) and Reason (R) are not correct.
(d)  Assertion (A) is correct, but Reason (R) is incorrect.

13. Which of the following statement is not true regarding Ibn Battuta ?
(a) He was a Moroccan traveller to India.
(b)  His book of travels is known as ‘Badshahnama’.
(c) He had expertise in the Islamic religious law Sharia.
(d) He had made a pilgrimage to Mecca.

14. The land was classified into four categories under the rule of Akbar.
Which of these four categories was considered the best ?

(a)  Polaj (b)  Parauti
(c) Chachar (d) Banjar

15. Identify the East India Company’s officer with the help of following
information :

e Was a physician of Lord Wellesley
e He surveyed Bengal
e He established zoo in Bengal

(a) Colin Mackenzie (b) John Marshall

(¢) Marco Polo (d) Francis Buchanan

16. Which of the following option is correctly matched ?
(a) Jhansi — Bahadur Shah
(b) Arrah - Kunwar Singh
(¢c) Delhi - Wajid Ali Shah
(d) Awadh - Lakshmi Bai
61/1/2 9 P.T.O.
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17.

18.

19.

20.

21.

61/1/2

fatateaa fasea § @ 98 Sig &1 =39 i .

(a)  TETCHT Tt —  gfaum g1 & Ie3y
(b) AT 8% —  gfgum 991 & Ihia
(¢c) I Tl JdTe — 3T JEAE i R

(d) I .3 g — UEY gifd & A9y

frferfaa o @ forment Shfer iTefl” gt Srar e 2
(a) HIAH G

(b) @M 3Tsqed TR W

(c)  TIIUTA ST M@

(d)  grewTg TS

fafafaa & 9 forea dfaum g 8 afgenett & fow = < 7 & 2

fefIfiad § & $H-0 S99 981 & ?

() 3T 3 9Ra ¥ urvEte e i ywed # |
(i) S8 7S ATem & foaTe™ R Siaw @ |
(iii) 37GiH Tl FAT I GeH BT oh T AT ST |
(iv) 3g Taean faamg 6 srmfa 78 & |

faeney

(a) (@), (i) 3R (i) (b) (i), (iii) 3T (iv)
) (i), (iii) 3 (iv) @ @), Gi) MW ()
ffeiiad ® o fohte I7Tal H SEaARl sSgieed @] foha ?

(a)  oTHE GO (b) ™ Hi-aTTE
(c) faferm sfds @ B I
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17. Select the correct pair from the following options :
(a) Mahatma Gandhi — President of Constituent Assembly
(b)  Jawaharlal Nehru — Lawyer of Constituent Assembly
(c) Dr. Rajendra Prasad - Passed Objectives Resolution
(d)  Dr.B. R. Ambedkar - Chairman of Drafting Committee

18. Who among the following was called as ‘Frontier Gandhi’ ?
(a)  Maulana Azad
(b)  Khan Abdul Ghaffar Khan
(c) Gopal Krishna Gokhale
(d) Dadabhai Naoroji

19. Who among the following demanded justice for women in the Constituent
Assembly ?

(a) H.J. Khandekar

(b)  T.A. Ramalingam Chettiar
(c) Hansa Mehta

(d)  Jaipal Singh

20. Which of the following statements are correct ?
(1) The English introduced western education in India.
(i1))  They set up English-medium schools and colleges.
(iii) They established laws to abolish sati system.

(iv)  They did not permit widow remarriage.

Option :
(a) (1), (i1) and (iii) (b) (i), (iii) and (iv)
(¢) (1), (iii) and (iv) (d) (), (ii) and (iv)

21. Who among the following introduced ‘Permanent Settlement in Bengal’ ?

(a) Thomas Munro (b) Charles Cornwallis
(c) William Bentinck (d) Henry Hardinge
61/1/2 11 P.T.O.

Get More Learning Materials Here : & m @&\ www.studentbro.in



Qs @

(Tg-3TT TR & I9) 6x3=18
22. (F) TSWE WU H T @ qomelt wgh e &1 woha frg TR <t
2 2 Tose FfvT | 3
areran
(@) TeWiE AN grT el SR Hglehdi o1 TN 91 foham Jrar o ? T
T | 3
23. HEWRA 4 TUgaRmeh =aee i fhE TR ggg fohan ? Tase ShilT | 3
24. (%) HER @ HI emed i smen Fif | 3
areran
(@) = Tgel 3 vt Wa 1 qqe fohm yeer foman 2 w9y i | 3
25. 31 9qal g1 W= ‘Rger’ i Teheal i foRiware i samean Hife | 3
26. 1857 % fdgig & SR T S o foheal diF @Il sl TS hHITIT | 3
27. 18 IATedl & S TSHEA hl TBTSAT o UgTe! T HeMl shl Wl s a1l
foraml TX SATSHATT 1 L o ? TS hIRT | 3
Qug T
(-3 TR F T9) 3x8=24
28. (%) “THH TAWRE % HRUN R il i w Hifu | 4+4=8
aroran
(@) ‘9Rd SISl A o RN TR G137 S W@ i | 4+4=8
29. (%) FgrHIH! Iear S TlEHHS IR M Faet fanivareti 61 smen
i | 4+4=8
arora
(@) 3TegL ok g dfvid fosrR i fehciedl 3R Heehi o Waw™ o6l
TS HIT | 8
30. (%) “Hih &1 WU IRAHAY TU o HdtS Tl TNl § Y TH 7 |7 3
FYF s AR FHINT | 8
Jrera
(@) e fawg g o 3ga shi e HiVT | 8
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SECTION B

(Short-Answer Type Questions) 6x3=18
22. (a) Explain how the drainage system of Harappan cities indicate town
planning. 3
OR
(b)  Explain why the seals and sealings were used by the Harappans. 3

23. How did Mahabharata reinforce the idea of patrilineality ? Explain.

24. (a) [Explain the teachings of Kabir Das. 3
OR
(b) How did Chola rulers provide support to Bhakti traditions ?
Explain. 3
25. Explain any three features of the ‘Rihla’ authored by Ibn Battuta. 3
26. Explain any three sources to learn about the Revolt of 1857. 3
27. Explain why did the Paharias of Rajmahal hills regularly raid the settled
agriculturists on the plains during the 18th century. 3
SECTION C
(Long-Answer Type Questions) 3Ix8=24
28. (a) [Examine the reasons and outcomes of the Salt Satyagraha. 4+4=8
OR
(b) Examine the causes and events of Quit India Movement. 4+4=8

29. (a) Explain the structural and ritual related features of Mahanavami

Dibba. 4+4=8
OR
(b)  Explain the significance of fortification and roads of Vijayanagara
as described by Abdur Razzaq. 8
30. (a) “The Stupa at Sanchi is among the best preserved monuments of
the earliest times.” Explain the statement. 8
OR
(b)  Explain the growth of Puranic Hinduism. 8
61/1/2 13 P.T.O.
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Qs ¥

(|- U9) 3xd=12
31. feu 7w g i ufew 3R i fau v g & I fafgue . 1+1+2=4
The o1 ST ?

37757 © Ig Teh A I3 B :

STHIT- TR Tk Tohg o i 3TMEd 1 St diesh Had Wl o+ & foig
TR W | g 91 AT qehl s g d &9 H =T 1 Tohal B |
TSI, HUHA: Teal Ao H HU 1 Haas 8, 3N, AR FHd, AT
...... 3R I I B, Al HOA I o -3 Yfagr H e
MR — =BT, HeAH HR e, IR 3 W@ Tk G Hl
TR | AHEX 3eret ¥ Toham T S 1 Aehed ot wTH €9 9
TEl TS o1 8 | gEl, Fers S wra7ic] |t hed & (H) wed e
L ITHT F A 7, AR B ol uai 1wl § 9 wwd § deaw
w0 & | Afehd 3o THzer Fhewt fi T& @ vedt 8, a1 g
gfg 3R weR dEeTsh 1 fud w@d § | SR, F7 925 9 3§
S % ¥ @d §ic od 3 | Y, T FT5 HEA Hied & 91E, 9
3T &L ST oId 8 3 o 3| 319 ¥ dfc oid 7, 3N &P (9¥)
JTOHT T = S ST 3 3T 3U® GHTHT ATl & |

(31.1) +Tohe o 31 T 3Z@ HIfGT | 1

(31.2) S7HIGETTR <hl Y[Heh1 ohl ST HINT | 1

(31.3) T F273 o ek hl SATEAT ShHiNT | 2
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SECTION D

(Source-Based Questions) 3x4=12
31. Read the given source and answer the questions that follow : 1+1+2=4
Cash or Kind ?

The Ain on land revenue collection :

Let him (the amil-guzar) not make it a practice of taking only
in cash but also in kind. The latter is effected in several ways.
First, kankut: in the Hindi language kan signifies grain, and
kut, estimates ... If any doubts arise, the crops should be cut
and estimated in three lots, the good, the middling, and the
inferior, and the hesitation removed. Often, too, the land taken
by appraisement, gives a sufficiently accurate return.
Secondly, batai, also called bhaoli, the crops are reaped and
stacked and divided by agreement in the presence of the
parties. But in this case several intelligent inspectors are
required; otherwise, the evil-minded and false are given to
deception. Thirdly, khet-batai, when they divide the fields after
they are sown. Fourthly, lang batai, after cutting the grain,
they form it in heaps and divide it among themselves, and

each takes his share home and turns it to profit.

(31.1) Explain the meaning of cash. 1

(31.2) Explain the role of Amil-Guzar. 1

(31.3) Explain the system of lang batai. 2
61/1/2 15 P.T.O.
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32. feu U @i 1 ufeu 3R = fou U g & I fafgu 1+1+2=4

T ok ToTU greft ueme

sreforrey W A SR TRIEe Ted % 9R W fowga faaw fied g |
fergmetr o A 9T g1eft SRl Uehed o 3U™ o IR H 3I9H I foran B

greft i o TX&Teh BT ol UTed a1 @, gefi & o0 |
SIS S ot ST, HHReTeh], aaaTiE 3 HEedal o
Y TiesRt 9T 8 91d s> Y Aee °, Sl SoRT gria

fIRTT 7T 7o 1 989Hd §U 3 oS ol i Hd F |

AT EIdl % AR, O Ty % U ©: 91d et afes, fi| g9R geHar
T =t BN Feft O | P siagEeR 39 faaw i AfdRiEe 7 3 |

(32.1) ST b AGH i & ? 1

(32.2) STl H ISR hT Ul hdl SR SITdT 9T 2 1

(32.3) HIF STEehl g BIFET bl o4T Yehel STAT AT 2 2
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32. Read the given source and answer the questions that follow : 1+1+2=4

Capturing elephants for the army

The Arthashastra lays down minute details of administrative and
military organisation. This is what it says about how to capture

elephants:

Guards of elephant forests, assisted by those who rear
elephants, those who enchain the legs of elephants, those
who guard the boundaries, those who live in forests, as well
as by those who nurse elephants, shall, with the help of five
or seven female elephants to help in tethering wild ones,
trace the whereabouts of herds of elephants by following the

course of urine and dung left by elephants.

According to Greek sources, the Mauryan ruler had a standing
army of 600,000 foot-soldiers, 30,000 cavalry and 9,000 elephants. Some

historians consider these accounts to be exaggerated.

(32.1) Who is the author of Arthashastra ? 1

(32.2) How were the elephants traced in the forests ? 1

(32.3) Why were the elephants captured by the Mauryan rulers ? 2
61/1/2 17 P.T.O.

Get More Learning Materials Here : & m @&\ www.studentbro.in



33. feu mu giq <t ufeu i = feu o yeai & 39w fafge 1+1+2=4
“3U Al Tet T, IR ATd-STd IR T i & T

TER Igy 9IS 9o o hal o :

I TIEUH I I AATS gl § b &0 YU Half=rehl i A FHIT T
@ ¢ FAit gaR fIC 7€) 3181 ¢ | I8 91 g9 ogd 9 § g @ 7 |
B AT ° 98 g4 18 & 3 SH ATGIeH o HRUT 9 g9 Teh fauiad
g 2...| T AT g3 T o T ox f@n wend 2 et g fatfuen
B ? TR M g fomn < @t # ekl 91 HE o | |ifeRd 3R 3™
AT ¥ | favTeH o a1 Wt gk faifesht i saaeen s @i T @
T&T S 1 FIE Ta@E 61 a8 | safae § wEa g 6 aw fad W
! 91q T8 7 Sfesh 3TdeRT v off 36 ¥ 7 o6 g0 ordia @ ya AW |
TF [ 8 THIE B HHRd @....| WA A TN T, WK
STA-STd IAA 1 1S &1 T § | 9 39 ING ol 3TN S 781 A18d |
(gfiw, gHw) | o s 3 a8 foum w R on ot 38 g 3ufig
T8l 1 oft foh 3= 31 STl WIHT U | 3giH A1 39 WA hi glere
% o o8 fopm o | W, *IE 91d & | TR e 9 3ot forEa i
BIg MY & | 379 77 FEY ATET febent A A 2

(33.1) Yk fHaifent o 379 I IgRaa HIT | 1

(33.2) TG 9eA H Thal W AR 1 feam 2 1

(33.3) YUk Taiferent hl U hl IR FAT AT T ? 2
61/1/2 18
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33. Read the given source and answer the questions that follow : 1+1+2=4

“The British element is gone, but they have left the mischief
behind”

Sardar Vallabh Bhai Patel said :

It is no use saying that we ask for separate electorates, because it is good
for us. We have heard it long enough. We have heard it for years, and as
a result of this agitation we are now a separate nation ... Can you show
me one free country where there are separate electorates ? If so, I shall be
prepared to accept it. But in this unfortunate country if this separate
electorate is going to be persisted in, even after the division of the
country, woe betide the country; it is not worth living in. Therefore, I say,
it is not for my good alone, it is for your own good that I say it, forget the
past. One day, we may be united ... The British element is gone, but they
have left the mischief behind. We do not want to perpetuate that
mischief. (Hear, hear). When the British introduced this element they
had not expected that they will have to go so soon. They wanted it for
their easy administration. That is all right. But they have left the legacy
behind. Are we to get out of it or not ?

(33.1) Mention the meaning of separate electorates. 1
(33.2) Why did Sardar Patel insist on unity ? 1

(33.3) Why was separate electorate considered a mischief by the
British ? 2

61/1/2 19 P.T.O.
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Qs ¢

(vt -smeniia a9T) 5
34. (34.1) WA fgu T TSk W-AEREE (58 23 W) #, f=faRad &1
3wk Togl @ sifera hifste o7t 3 I fofEu - 3x1=3

(i) WY - A AMAG HT Th & |
(i) TSER - WY & U TSI 6l TH9r |

(i) (%) AR - TG I T IMEH & |

AUAT
i) (@) fooett — g AT i TAGH
(34.2) THI TSI [ET-AMRT § 1857 % fagig o < shgl Sl A 3 B ¥

iferd foraT TRT B | 38 TEETNT 3R ek ene Wi=h TE W@t w
T fafgu | 2

qig:  [AEIIET 397 #ac gheattad qagiaal & (70 9. . 34 & T W&

(34.1) 373Nk o IR 9T I arel et weh T 61 9 forfRaw | 1

(34.2) TTY TST o1 TG TR HIA-AT o7 ? 1

(34.3) (%) T G o AW 6l TAYHT 1 919 faaRgu | 1
rera

(34.3) (@) IR YU H T HHTSA hl TG b1 19 fARaw | 1

(34.4) 1857 % fagig =& fohral a1 gl 1 3@ hHIFVT | 2
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SECTION E
(Map-Based Questions) 5

34. (34.1) On the given political outline map of India (on page 23), locate
and label the following with appropriate symbols : 3x1=3
(i)  Mathura — A place of Ashokan inscription.
(i1) Rajgir — The capital of early State of Magadha.

(iii) (a) Chandragiri — Where Aravidu dynasty ruled.
OR
(iii) (b) Delhi — Capital of Mughal Empire.
(34.2) On the same map, two centres related to the Revolt of 1857 are

marked as A and B. Identify them and write their names on the
lines drawn near them. 2

Note : The following questions are for the Visually Impaired Candidates, only in
lieu of Q. No. 34 :

(34.1) Name one place where Ashokan inscription is found. 1

(34.2) Which was the capital town of State of Magadha ? 1

(34.3) (a) Name the place where Sangam dynasty ruled. 1
OR

(34.3) (b) Name the capital of Mughal Empire in Uttar Pradesh. 1

(34.4) Mention any two centres of Revolt of 1857.

61/1/2 21 P.T.O.
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Marking Scheme
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination, 2023
HISTORY-(027) (PAPER CODE 61/1/2)
eneral Instructions: -

1 You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious
problemswhich may affect the future of the candidates, education system and teaching
profession. To avoid mistakes, it is requested that before starting evaluation, you
must read and
understand the spot evaluation guidelines carefully.

2 “Evaluation policy is a confidential policy as it is related to the confidentiality of
the

examinations conducted, Evaluation done and several other aspects. Its’ leakage
to public in any manner could lead to derailment of the examination system and
affect the life and future of millions of candidates. Sharing this policy/document
to anyone, publishing in any magazine and printing in News Paper/Website etc
may invite action under various rules of the Board and IPC.”

3 Evaluation is to be done as per instructions provided in the Marking Scheme. It should
not be done according to one’s own interpretation or any other consideration. Marking
Scheme should be strictly adhered to and religiously followed. However, while
evaluating, answers which are based on latest information or knowledge and/or
are innovative, they may be assessed for their correctness otherwise and due
marks be awarded to them. In class-X, while evaluating two competency-based
questions, please try to understand given answer and even if reply is not from
marking schemebut correct competency is enumerated by the candidate, due
marks should be

awarded.

4 The Marking scheme carries only suggested value points for the answers

These are in the nature of Guidelines only and do not constitute the complete answer.
The

students can have their own expression and if the expression is correct, the due
marksshould be awarded accordingly.

5 The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be
zero after delibration and discussion. The remaining answer books meant for evaluation
shall be given only after ensuring that there is no significant variation in the marking
of

individual evaluators.

6 Evaluators will mark( V' ) wherever answer is correct. For wrong answer CROSS X” be
marked. Evaluators will not put right (v )while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake

which
evaluators are committing.

7 If a question has parts, please award marks on the right-hand side for each part.
Marks

awarded for different parts of the question should then be totaled up and written in the
left-hand margin and encircled. This may be followed strictly.

8 If a question does not have any parts, marks must be awarded in the left-hand margin
and
encircled. This may also be followed strictly.

9 If a student has attempted an extra question, answer of the question deserving
moremarks should be retained and the other answer scored out with a note “Extra
Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be penalized
onlyonce.

11 A full scale of marks 80 (example 0 to 80/70/60/50/40/30 marks as given in
Question

Paper) has to be used. Please do not hesitate to award full marks if the answer
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deservesit.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours

every day and evaluate 20 answer books per day in main subjects and 25 answer

books per day in other subjects (Details are given in Spot Guidelines).

13 Ensure that you do not make the following common types of errors committed by

theExaminer in the past:-

e Leaving answer or part thereof unassessed in an answer book.

Giving more marks for an answer than assigned to it.

Wrong totaling of marks awarded on an answer.

Wrong transfer of marks from the inside pages of the answer book to the title page.

Wrong question wise totaling on the title page.

Wrong totaling of marks of the two columns on the title page.

Wrong grand total.

Marks in words and figures not tallying/not same.

Wrong transfer of marks from the answer book to online award list.

Answers marked as correct, but marks not awarded. (Ensure that the right tick

markis correctly and clearly indicated. It should merely be a line. Same is with the

X for incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks
awarded.

14 While evaluating the answer books if the answer is found to be totally incorrect, it

shouldbe marked as cross (X) and awarded zero (0)Marks.

15 | Any un assessed portion, non-carrying over of marks to the title page, or totaling error

detected by the candidate shall damage the prestige of all the personnel engaged in the

evaluation work as also of the Board. Hence, in order to uphold the prestige of all

concerned, it is again reiterated that the instructions be followed meticulously and

judiciously.

16 | The Examiners should acquaint themselves with the guidelines given in the

“‘Guidelines

for spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over

tothe title page, correctly totaled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on

payment of the prescribed processing fee. All Examiners/Additional Head

Examiners/Head

Examiners are once again reminded that they must ensure that evaluation is carried

outstrictly as per value points for each answer as given in the Marking Scheme.

Get More Learning Materials Here : & m @&\ www.studentbro.in



Set: 61/1/2
MARKING SCHEME-2023
HISTORY (027) MM: 80
S.No. Value Points Page Marks
No.
SECTION A
(Multiple Choice Type Questions) 21x1=21
1 (d) Gujarat 2 1
2 (d) Hidimba 65 1
3 (d) Rudradaman 38 1
4 (c) Garbhagraha 96-97 1
5 (c) S N Roy 20 1
6 (d) Uttar Pradesh 106 1
7 (c) Ashoka 32 1
8 (a) Sangama 173 1
9 (d) (iv), (ii), (iii), (i) 163- 1
164
10 (d) A'is incorrect but R is the correct. 164- 1
165
11 (b) Francois Bernier - Frenchman 122 1
12 (a) Both A and R are correct and R is the correct explanation of A 132 1
13 (b) His book of travels is known as ‘Badshahnama 118 1
14 (a) Polaj 214 1
15 (d) Francis Buchanan 266 1
16 (b) Arrah — Kunwar Singh 292 1
17 (b) Dr B R Ambedkar — Chairman of the drafting committee 409 1
18 (b) Khan Abdul Gaffar Khan 389 1
19 (c) Hansa Mehta 422 1
20 (a) (i), (ii) and (iii) 295 1
21 (b) Charles Cornwallis 259 1
SECTION-B
(Short-Answer Type Questions)
22 (a) | (a) Explain how the drainage system of Harappan cities 3
indicate town planning.
Ans. Pg. 6,7
(i) Urban Centres at Harappa were well planned.
(ii) The drains were properly laid down.
(iii) Roads and streets were laid down along
approximate grid pattern.
(iv) Streets with drains were laid out first and then
the houses were built.
(v) For domestic waste water to flow into street
drains every house needed to have at least one wall
along the street.
(vi) Any other relevant point
Any three points to be explained
OR
22.(b) | Explain why the seals and sealings were used by the 3
Harappans.
Ans. . Pg. 15
Seals and Sealings :
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(i) They were used to facilitate long distance
communication.

(ii) On the mouth of a bag of goods, which is tied with
a rope, seals were pressed, leaving an impression.

(iii)  If the bag reaches with sealing intact, it means, it
has not been tampered with.

(iv) The sealing also conveyed the identity of the
sender.

(v) Any other relevant point
Any three points to be explained

23. How did the Mahabharata reinforce the idea of 3
patrilineality? Explain.

Ans. i.  Under patriliny sons could claim the resources of Pg.55-
their fathers, whenthe latter died. 56
i. After the battle of Mahabharata
patrilineal succession was proclaimed.
iii. Mahabharata reinforced the idea that it was valuable.
iv.  The wealthy men of that time and those who
had high status alsofollowed this practice.
v. Even the Brahmins followed this practice of patriliny.
vi.  Any other relevant point.
Any three to be explained.
24. (a) Explain the teaching of Kabir Das. 3
Ans . Pg.161-
(a) Kabir: 162
i.  Concept of ultimate reality
i. Shabda and Shunya
iii. Naam Simaran
iv. Attacked Polytheism
v. Verses compiled in -The Kabir Bijak, the
Kabir Granthavali andmany compositions in
the Adi Granth Sahib.
vi.  Source of inspiration
vii.  Any other relevant point.
OR
24. How did Chola rulers provide support to Bhakti traditions? 3
(b)
Ans. Chola rulers : ?26145_

i. Powerful Chola Rulers supported, brahmincal
and Bhakti traditions,made land grants,
constructed temples for Vishnu and Shiva.

i. Shiva temples at Chidambaram, Thanjavur and
GangaikondaCholapuram were constructed
Spectacular representations of Shiva in bronze
structures were madeinspired by the visions of
Nayanar saints.

ii. The Chola kings claimed divine support and
proclaimed their ownpower by building temples.

iv.  They introduced the singing of Tamil Shaiva hymns in the
temples.
v. They organized them into texts.
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vi.  Any other relevant point.

Any three to be explained

25. Explain any three features of the‘Rihla’authored by Ibn Battuta. 3
Ans. Rihla : Pg.

: , : . 119-

i.  Written in Arabic. 121

ii. Presented socio—cultural life of the sub—continent.
iii. Record of all observations of Ibn Battuta.
iv. Travel account of Ibn Battuta.

Any other relevant point.

26. Explain any three sources to learn about the Revolt of 1857. 3
Ans. Sources of 1857 Revolt : Pg.
i. Letters and diaries 313
i. Official records
iii. Newspapers

iv. Magazines
v. Paintings and Cartoons
vi.  Any other relevant point

Any three to be explained.

27. Explain why did the Paharias of Rajmahal hills regularly 3
raid the settledagriculturists on the plains during the 18th
century?
Ans. Pg. 268
i. These raids became necessary for the survival of
Paharias.

i.  During the time of scarcity they had nothing to eat.

iii. Paharias also wanted to show their supremacy over the
settledfarmers.

iv.  This was also a means to negotiate political relations with
outsiders.

v.  Any other relevant point.
Any three to be explained.

SECTION-C
(LONG-ANSWER TYPE QUESTIONS)
28. (a) | Examine the reasons and outcomes of the Salt Satyagraha. 4+4=8
Ans. (a)Salt Satyagraha : Pg.
356-
i. Saltlaw was the most disliked law in British India. 360

i. Salt manufacturing was the State monopoly.

iii. Every household needed salt.

iv.  People were forbidden from making salt.

v. People were compelled to take salt from shops at high

price.
vi.  The state monopoly over salt was deeply unpopular.
vi. Because of wide discontentment among people
againstBritish rule Salt Satyagraha was
launched.
vii.  Any other relevant point

Any four points to be examined.
Results :

i.  Salt manufacture was allowed along the coast.

ii.  Gandhi’s name came to world attention. The
march waswidely covered by the European and
American Press.

ii. It was a national activity that shook the British rule.

iv.  This movement showed that British rule was not going
to last long.

v. Any other relevant point
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Any four points to be examined.

OR
28. Examine the causes and events of Quit India movement. 4+4=8
(b)
Ans. ; - Pg.363-
Quit India : 364

Causes:

i. Refusal to the proposal of Independence after the
second world war.

i. Inthe meeting of Congress with Lord Linlithgow,
the nature of India’s involvement in the war was
discussed, but negotiations with Viceroy broke
down, the Congress Ministries resigned.

iii. Failure of Cripps Mission.

iv.  The political landscape become complicated as
now it had become a three ways struggle
between the Congress theMuslim league and the
British.

v. There was unrest among the masses due to
second world war.

vi.  Any other relevant point.

Any four to be examined.
Events:

i This movement was, in fact a mass movement.
ii. Even common people rose to the standard of
revolt againstBritish raj.
iii. It energised the youth in large numbers.
iv. In 1945 labour government came to power in
Britain andwas committed to free India.
v.  Gandhi urged to follow the mantra of do or die.
vi.  British arrested thousands of people and put them into
jail.
vii.  Civil rights were suppressed.
vii.  Freedom of speech was curtailed.
ix.  British realized that they had to leave India for good.
X.  Any other relevant point.
Any four to be examined.
29 Explain the structural and ritual related features of 8
MahanavamiDibba.
Ans. Pg.180-
(a)Mahanavami Dibba 181

i. Mahanavami Dibba is located on the highest point.

ii. Itis very impressive with a base of 11000 sq.
feet with 40 ft.height.
ii. It supported a wooden structure.
iv.  The base of platform is covered with relief carvings.
v. Rituals performed here coincide with Mahanavami.
vi.  Dusehra and Durga Puja were performed here.
vii.  Vijayanagara kings also displayed power and prestige
here.
vii.  Worship of the State horse and sacrifice of
buffalos was performed here.
ix.  Worestling matches were performed and
processions weretaken out from here.
Xx.  On the last day the king inspected his army and
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the armiesof the Nayakas in a grand ceremony.
xi.  Chief nayakas and subordinate kings presented
themselvesbefore the king with gifts to show
their loyalty.
xii. ~ Any other relevant point.
Any eight points to be explained.
OR
29. Explain the significance of fortification and roads of
(b) Vijayanagara as described by Abdur Razzaq.
Ans. |(b) Abdur Razzak, an ambassador of the ruler of Pg.177-
Persia was greatly impressed by the fortification. 178
i. There were seven lines of forts.
ii. These encircled not only the city but also the
agriculturaltracts and forests.
iii. Outermost wall linked the hills surrounding the city.
iv. ~ No cement was used in the construction of these walls.
v.  The stone blocks were wedge shaped.
vi.  The significant aspect of fortification was that it
enclosedagricultural tracts.
vi.  This was done so that people would not starve
duringmedieval sieges.
vii.  The second line of fortification went round the
inner core ofthe urban complex.
ix. A third line surrounding the royal centre had
majorbuildings surrounded by high walls.
X.  The fort was entered through well-guarded gates
whichlinked the cities to the roads.
xi.  Any other relevant point.
Any eight points to be explained.
30. (a) | “The Stupa at Sanchi is among the best preserved
monuments of the earliest times.” Explain the statement.
Ans. (a) Sanchi Stupa : Pg. 83
This most wonderful ancient building is at Sanchi
Kanakhera.
i.  This Stupa was of great interest to Europeans.
i. The French sought permission of Shah Jahan Begum to
takeaway the eastern gateway.
iii. French wanted to keep it in their museum.
iv. ~ The English also wanted to do the same thing.
v. Begum refused and they got the plaster copies of the
same.
vi.  Begums provided money for the preservation of this
monument.
vii.  The Begum also funded the museum and guest house in
theStupa complex.
vii.  Wise decisions of the Begums of Bhopal.
ix. Due to good luck in escaping the eyes of railway
contractorsand builders.
Xx.  Today itis the key archaeological site and best
preserved.
xi.  Any other relevant point
Any eight points to be explained
OR
30. (b) | Explain the growth of Puranic Hinduism.
Ans. Puranic Hinduism : Pg.104-
i. Vaishnavism is part of Puranic Hinduism and in this 105
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Vishnu is worshipped.

ii. In Shaivism tradition, Shiva is the chief deity.

ii.  The worship of these deities is considered a bond
betweenthe deity and the worshipper.

iv. In Vaishnavism there are many incarnations or Avtars.
v. Ten avatars have been recognised.
vi. It is presumed that whenever there was disorder on this
earth one avatar appeared to save people from evil forces.
vii.  Each avatar is recognised as a local deity.
viii.  Shiva is symbolised in the form of linga although

occasionally represented in human form too.

ix.  All deities in human from depicted complex set of ideas
and their attributes through symbols such as head
dresses ornaments and weapons.

x.  Any other relevant point
Any eight points to be explained

31. Read the given source and answer the questions that Pg. 215 | (1+1+2=4)
follows : Cash or Kind?

31.1 Explain the meaning of cash. 1

Ans. Cash means money/metal currency in the form of Rupyal Rupee.

31.2 Explain the role of Amil-Guzar. 1

Ans. The role of Amil Guzar was to assess the land revenue and
then to collect revenue from the peasants in cash or kind.
31.3 Explain the system of lang batai. 2
Ans. (i) Lang batai was the system under which, after cutting the
grain heaps were formed.

(ii) These heaps were divided among themselves and each
takes his share home and turns it to profit.

32. Read the given source and answer the questions that follow: | Pg.35 | (1+1+2=4)
(32.1) | Who is the author of Arthashastra? 1
Ans. Kautilya or Chanakya is the author of Arthashastra.
(32.2) | How were the elephants traced in the forests? 1
Ans. Elephants are traced in the forests by following the course of
urine and dung scattered in the forests with the help of 5 or 7
femaleElephants.
(32.3) | Why were the elephants captured by the Mauryan rulers? 2
Ans. (i) Elephants were captured to raise the military strength of
elephant by the Maurya rulers.
(i) According to Greek sources, the Mauryan ruler
had a standing army of 9,000 elephants.
33. Read the given source and answer the questions that follows: | Pg. 417 | (1+1+2=4)
“The British element is gone, but they have left the mischief
behind”
33.1 | Mention the meaning of separate electorates. 1
Ans. It was a part of political framework in which minorities could be
elected and have meaningful voice in the administration.
32.2 | Why did Sardar Patel insist on unity? 1
Ans. Patel was against separate electorate because he felt that in
this way minorities will always remain minority.
33.3 | Why was separate electorate considered a mischief by the 2
British?
Ans. ()] Separate electorate was considered a mischief by the

British, as it laid the foundation of dividing the
different communities.
(ii) (i) Endangered the unity of the nation.
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SECTION—E
34 (Map-Based Questions) (3+2=5)
341 | On the given political outline map of India (on page 23),
locate and label the following with appropriate symbols

Ans.(i) | Mathura —A place of Ashokan inscription. 1

(ii) Rajgir—The capital of early State of Magadha. 1

(iii) (a) Chandragiri-Where Aravidu dynasty ruled. 1
OR

(iii) (b) Delhi—Capital of Mughal Empire 1

34.2 On the same map, two centres related to the Revolt of 1857 are 2

marked as A and B. Identify them and write their names of the lines
drawn near them.

Note : The following questions are for the Visually (3+2=95)
Impaired Candidates, only inlieu of Q.No. 34:
341 | Name one place where Ashokan inscription is 1
found.
Ans. Sanchi or any other place
34.2 | Which was the capital town of State of Magadha? 1
Ans. | Rajgir
34.3 | (a) Name the place where Sangam dynasty ruled? 1
Ans. | (a) Vijaynagara /Hampi
OR
34.3 | (b) Name the capital of Mughal Empire in Uttar 1
Pradesh.’
Ans. | (b) Agra
34. 2

Mention any two centres of Revolt of 1857.

Ans.

Meerut, Delhi, Gwalior or any other
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